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AQA AS Biology exam practice answers

8 DNA and cell division

1
(a)
The tumour was completely eradicated. 

[1]

(b)
The initial volume of 150 cm3 had shrunk by 70.6% after treatment, so its volume after treatment was 44.1 cm3. 

[2]

(c)
Any two from:

· Heat and chemotherapy is more effective than chemotherapy alone.

· Heat and chemotherapy always shrink the tumour by at least 80%.

· There is a varying degree of shrinkage. 

[2]


(In questions like this, there will be other acceptable answers which will gain credit from the examiners.) 

(d) The results are very encouraging — there is significant tumour shrinkage in all cases. However:

· there were only nine cases which is not enough cases to draw valid conclusions from, so more data are needed

· there may be side-effects

· the treatment may be too expensive 

[2]

(One mark for a valid point on each side of the argument.)

2
(a)
Anaphase. 

[1]

(b)
The spindle is pulling the chromatids to opposite poles of the cell. The chromosome separates 
at the centromere. 

[3]
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